EARAROBEEIERT — 2 N— IBISH —F

201858 A9H () 9mPI5I3H

m 3ULEC4—-—3 C4 % —#% ‘ [z ‘ [eErsm]  — | & (B) 10000 &
[AE£] 1% :250,000 ™ ~ 23#%&:50,000"  33&:38,000H  47&:2500MH ~ 57&:12,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. EBE :02. - . - HFEE (dtEsE
l2lg| 237212 3 | B et e B Ittt i
LY ZRE—IZ24— BITJAATE-F Fy P EF T — L
Sy hSH 4 3 | HELRE 1:02.4 2-2 7.7 — 2 474 | #RFNEL (AtiEiE)
2|8|10| TV ~TT 56.0 (1 1/2) o) |B¥E
LN=HINK B:T7AT1740—> =Eivie
N N . K & ABB :03. = . — NEFE (dtiEE)
N AP %o |28 e e R )
A :Shanghai Bobby £}:/X2F4 T KIJ—LX AL
—sy 5 # 3 | AllE 1:03.7 9-8 38.0| — 7 454 | NIBHEA (AtimE)
45|55 | TATXT v — 56.0 (' 1/2) o |EERt .
R:FATATv— Biky Rzl FAFAT7— L
ey e . s 3 | BIEREE 1:03.7 6-7 3B — 3 432 | AIISEE (LiEE)
EE 2| /ARYTZA4X 540 (7€) (+2) | ) Ls. Mo
/R bwb— B:/RLA 2 R— YoNTY LT T — L
— . ZHTHEA :03. = . = EAEKE (dtes)
6lzl7|=y bogU7F it 5 54.0 (/(\):;—)7 o %5 ° ?_Sf) B oo
Ri*xfavkh—-5— B:Zy by EET e
D N 3 | BT 1:04.0 8-6 38.4| — 8 466 | MNEIETT (dLimE)
71819 '7'], F—=IN—=hL 56.0 (11/2) (0) {EFEIERE =
TANWNTTFY— B4 XF21—-X ARETa—-T7—L
3 5 t 4 | BREFE 1:04.0 5-5 38.5| — 9 486 | 1EFFRK (dtimE)
8 6= VEWE ) 54.0 (NF) *+2) FPEEE =
R:g=JFLLy b BIHRHLT— HEREERS
¢3 j y PETS 0. - 8| - BO%E GtEw
9 4| ANRY LT L= i 5 ot 1 (0;1) 8 10-10 | 38.8 10 (4524) ch?;% BiE
L:ZZXHwR B:LECN—b KEHS
5 i # 3 | BRERIESE 1:05.2 6-9 39.6| — 6 428 | BAEE (LiEE)
10( 1] 1 Ij‘/—'?:[—7 54.0 ©) (+4) B
LT IANIVE B:IFY—T4IK &R SRThE
® 1—F—@EBIERL
13—7-—
2a=5"=
30—4— 8,10, (3,7),6,(1,2),9,5,4
40—+ — 8,10,3,7,6,9,2,5,1,4
[ N5
B 8 1204 714K 8-10 130M e E 7-8 200 JEE 3-8-10 510
B B 8 1004 3-8 210 B = 8-10 240M EE 8-10-3 1,240H
10 110 3-10 500M B H 8-10 350M
8 1609

ABICOVWTRDTEEERROODE. TR LIV,




